Burglary and Earthquake Example

lunedi 21 dicembre 2020 10.59
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MATLAB Script:
%Burglary/Earthquake Example
PiB=[0.010.99]';
PiE=[0.02 0.98]';
PBEdB=[0.50.500;00 0.50.5];

=[0.500.50;00.500.5]; 7 e TV
gii:i[[gsssg.gs?09932%2;31],290,71;0,0010.9991; { /{\_0. ’*urru«e,’lL r\.M;b«‘A AR L AN ST f"*bvn—v/u.ag % Vite g W‘Qg
%input

o stk ' oo . y
bM=[0.5 0.5]'; %Uniform l-—/QA/vQ (K8} O~ % {A/J-%\sﬂ‘l’ ve \ ‘1/\-01‘1 O-ta A
%mesaage propagation \
fB=PiB; [96 .

it errat B oo\ B s Aot ey VN lép_i% .

fBE1=PBEdB'*fB; %non normalized

fBE2=PBEE'*fE; %non normalized

fBE3=fBE1.* fBE2; %non normalized -
fA1=PAdBE'*fBE3; %non normalized J.g We &z A= | g\,«.,\,b\ ]{l-:—‘ Uz\_,g_f.{ﬂyv/w , ]/CL«_/V
bA2=PIdA*b; % " B
fA3=FAL * bA2;

M=PMdA'*fA3; ‘/L( T
i = vefore [y) s ) €
pM=pM/'Sum(pM) @E)) Vl{ 2 A - ? (Al B ) tSE))
C,M,f- W/»&{— ‘:\M-ﬁ- vae VG
Mot Cslo 2.5%% 044 0.2% o0.01\ [ez5

ARSWER F(n l5=T) = Fﬂu& é)”

_ _ 05453
_ 0.25 _ 0.4548
D05 0.0 0F 0.48%)|»2F
MATLAB Script: 0.2%
%Burglary/Earthquake Example (
PiB=[0.50.5]";
PiE=[0.50.5]';

PBEdB=[0.50.500;000.50.5];
PBEdE=[0.500.50;00.500.5];

PAdBE=[0.95 0.05; 0.94 0.06; 0.29 0.71; 0.001 0.999];
PJdA=[0.90.1; 0.05 0.95];

PMdA=(0.7 0.3; 0.01 0.99]; T4 (s el /&;uﬂ/ej M

%input 0.6694
bi=[10]; ' .
—_— 0.3306
bM=[0.5 0.5]'; %Uniform 74 FT"( A\ relo LV o
%mesaage propagation
fB=PiB;

fE=PiE;

fBE1=PBEdB'*fB; %non normalized
fBE2=PBEJE'*fE; %non normalized
fBE3=fBE1 .* fBE2; %non normalized
fA1=PAdBE'*fBE3; %non normalized
bA2=PJdA*bJ; % "

fA3=fA1.* bA2;

fM=PMdA'*fA3;

pM=fM .* bM

%normalize

pM=pM/sum(pM)
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